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gLz K 2 OUT| IN |GROSS|HDCP| NET
1 === > % - 36 40 76 11 65
2 REB &7 42 41 83 12 71
3 hE BT 42 42 84 13 71
4 ANE B= 40 | 40 80 ’ 73
5 It IEA 38 43 81 8 73
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NIg iz K 2 OUT| IN |GROSS|HDCP| NET
1 BF RN 46 47 93 26 67
2 = S =) 42 41 83 15 68
3 a8 1ER 48 40 88 20 68
4 WR S 43 42 85 15 70
5 wWE =& 45 42 87 17 70

N +Z0OR

BG EXR B 42 | 41 83
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g iz K 2 OUT| IN |GROSS|HDCP| NET
1 2H F8 48 41 89 26 63
2 e 3RER 44 | 41 85 17 68
3 wRER B— 46 37 83 14 69
4 HH 18R 41 43 84 15 69
5 BE BT 46 43 89 20 69

N +Z0OR
BG Bl RBE 41 38 79
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